I X EEiR Y EiR LR
9K400L 71700. 206 75596. 017 29.984
9K800L 72095. 962 75575. 148 33.080
T-1 71711. 099 75594. 242 30. 100
-2 71726. 693 75597. 410 32. 468
T-3 71782.552 75590. 018 32.377
T-4 71837. 071 75584. 860 32. 600
T-5 71876. 961 75579. 459 32.722
-6 71973. 706 75565. 332 32.820
T-7 71704. 636 75629. 072 32. 685
T-8 71751. 267 75656. 900 29.215
-9 71796. 346 75672. 883 29.712
T-10 71826. 365 75649. 385 29.911
KBM. 1 71698. 095 75601. 640 33.279
A 71807. 633 75588. 386 32.494

T E X

MIER L[=77.70m U DITT
15/ AT JBav 3RI  L=38.30m . JOv i3RI L=38.90m 3p/NALET
B=0. 3m B=0. 3m

No1:2.3

25/ 0T
B=0. 3m

1RE & F# XA

-20.37

To5 : $280@

PSR - #93748 (22 x 1524 x 3048)

. EEI

~20.%5 20v34

fo 74 BRARE
E. h7|

+29.59 -2

==

B
90
1
-129. 99 .
5on a0 2070
BE
0.29 "
-30. 14
30 0 12
N
N
& 1
5
30.21 D
3
N
3
+30.04 30\
HR2AR1 2
"
h
+29.39

(€47 5 5 20E4

+29.75

+29.76

+29.80

+30. 40

" 2091

+29.79

S

720

X

EEIE
I8 REEE HE - ER ANIE (2) GELFRRL)
BiRaE HBERI
THRER BEENBIETEL (35253
&4 FEE
MR B = ‘[E mES 1 - 1
ELa ]
BREL ERAFMNKRERER RIEMEH (KR



2000 M H099°¢¢ | 8v9¢€ 0000Vl H 0000C {H L'ON
r ¢00 0 M 095°¢¢ H¢95¢€ 000°0Ck H 0000 H 9 ON
co
28
=<
%Y H r §90 0 0S¥ '¢€ H S0G°¢€ {0000 H 00F'G H 000+
=2
H, d
O,
W =3 r €800 H 0¢¥'¢€ H €0G°¢E 009 ¥OL 009 ¥ M 09 v+
| e
b H ¥80 0 H 08€ ¢ H ¥9¥ ¢€ 1 000°00F H 0000 H G'ON
£
8
8
L= 4
=
I
gt H 060 0 H 0lE¢e 00y ¢E 00008 H 0000 H ¥°ON
[ B
~
Jui
T
+ € =3 9%0 0 M H 0€€ ¢ [ 9L£72E 1 0000L H00S9 H 000+
S
no =
..,H r 990 0 H 0S¢ ¢ | 90¢€¢€ 1 005°€9 H 00G°¢€ M 05 ¢+
4
W, H 0v0 0 H 0S¢°¢¢ [ 06¢¢€ 00009 HO0000C H €°ON
] ol
H 8
£ 4
el H
8| 4
gl 2
KT
N\
ETK_ r 1900 H 00€¢e H19€72€ H 0000y HOOLLLE H ¢ON
N
By
Jui
™
4
T \ 1€0°0 M H 085°¢€ 6162 HO00ECC [H00E¢C M 0€ ¢+
mm M M r 6L67c€ 00002 [H00002 pH 1 °ON
oe i)
ﬂ M M r €le’ee 0000 r 0000 r (0°ON)dd
g T T T Tg T T T Tsg T T T Tg T T T Tts
5 5 5 5 5
e S s S < e e e e - E
3 8 & & e ot -
& 0011 a H H ES % o2 o2
=5 = = w
B89 R =
7 s .
B i L= K b = 3 =

GEVFREAL)

RERRER (R

ANTE (2)

HBERI

fit=
HERER

SBERENBIAETE L (5824)8))
i

RERE AR - E
BERmE

I8
BaRAE
TR

&4

R

ESie

BEER




*% % &lﬁ ﬁ $=1/100

NO. 3+ 3.50
GH= 32. 306
FH= 32.250
7 755
2 322 833 3 589 1011
R
R B
R % /»',
gl o oLke
S < 9
Bs
N R ——————————————————————E——————— \<
_ . L
S| T~— /
— Rd ~ BETOYY
~ sz RO.06.09 26681
~_ ~ =
\\ ~
—

Agl

DL=20. 000

LHRREHE
I8 REEE HE - ER ANIE (2) GELFRRL)
BiRaE HBERI
THRER BEENBIETEL (35253
&4 MR
MR B = ‘[E mES 3 - 1N
ELa ]
BREL ERAFMNKRERER RIEMEH (KR




NO. 1+ 2.30

GH= 32.519
FH= 32. 550
5 160
227 3 087 |1 013

DL=20. 000

NO. T+ 9.3
GH= 32.519
FH= 32. 550
5 160
271 3 087 1013

4 100

DL=20. 000

[ ]

RETOVY

N

N

N

~N—

R3.06. 09

=

R3.06.09

26.510

26.510

%W B &
W<2.5
® T B® O 2.5=W<4.0
4.0=W
B B | BOHEEl E3) 14
g8 IH 3.8
R FRIEB’ E27)
_ W<1.0 + ® 0.4
2R 1.0=W<4.0 + ® 1.4
} REHED
mamms| PEY e %W % | B §
B W A | %W 45emkiE kB % W Ex) 6.11
SHERRERFE | As t=bcm [& = & 0.8 E A B A RC-40 2.89
Fin&hE | As t=bcem WK L — b R 6.80
%% B &
W<2.5
® T B R 2.5=W<4.0
4.0=W
B B | BOHEEl %
I E2)
L RIEB’ E27)
_ W<1.0 T ® 0.4
2R 1.0=W<4.0 + ® 1.4
- REWED
e | OHEY e %W BB | B &
B A | % 45emkiE FEEE 8 6.73
SHERRERFE | As t=bcm & = & E XA B A RC-40 3.30
Ei54%E | As t=bem 0.2 K — k il 6.80

LHRREHE
I8 REEE HE - ER ANIE (2) GELFRRL)
BiRaE HBERI
THRER BEENBIETEL (35253
&4 HRETE
MR B = ‘[E mES 4 - N
ELa ]

ERESR

EERMBRERER RIBMM (KK



NO. 2

GH= 32. 361
FH= 32. 300
% # H &
W<2.5
%t B K [2.55W<4.0
4.0=W
Bl FEEHI T8 9.0
9 522 FRYEB 2 4.0
R FRYEB’ EX)
3 489 833 4197 1003 ® = W<1.0 ) 0.4
2 800 1.0SW<4.0 + ® 1.4
: . EHEEY
¢ o
wammn| P arwan % B BE | B &
R - B B & | 45enki kB % W Ex) 7.59
A = SHERRAREE | As t=cm B E g X AR A RC-40 3.94
| Fi5EE | As t=bom 2.8 KL — k N 8.40
||
o 3
I<I -
— N
o
8
= R3.06.09 26.528
DL=20. 000
NO. 3
GH= 32. 290
FH= 32. 250
% # H &
W<2.5 2.3
%t B O [2.55W<4.0
4.0=W
Ol FUIEHI T# 3.1
FRYEB 2 3.9
R FRYEB’ EX)
— W<1.0 B2 0.4
7872 It
2 R 1.0sW<4.0 £ # 1.4
G
3 595 1 005 § REEREY
wzmmn| MY rwan %W B R | B =
B B H |2 45enkiH FEEE 8 6. 80
SHERRRER: | As t=bom | B B & ®E 2 B A RC-40 3.35
SEi5SEE | As t=Hem 1.7 'K Y — b+ ot 7.50
S
= R3.06.09 26. 668
[i:1]
I8 RERE BEN - ER ANIE (2) GBLFRRL)
BREE B
TEER EEEEISATEL (253
HEHA 1#IE (2)
DL=20. 000
R B = ‘@ mES| 5 ~ N
E3E
BEER BERENRARRE REBHE (KR




5

2

§
]

NO. 3+10. 00
GH= 32. 376
FH=32.330

| 2.749

NO. 4
GH=32. 400
FH=32.310

8 788

2 855 833_

2.300

1

3 958

DL=20. 000

1042

=z R3. 06. 09

26.710

% W &
W<2.5 .5
® T B® O 2.5=W<4.0
4.0=W
B B | FORE | IB 1.3
FRYEB EX7) 4.2
L FRYEB" E27)
_ W<1.0 + ® 0.4
2 R 1.0=W<4.0 + ® 1.5
| ERRED
mamms| PEY e 7 % | B §
B A |ZoH 45omkiE x| E R k2] 4.18
SHERRERFE | As t=bcm [& = & E A B A RC-40 3.60
FigaEsE | As t=bcm WK L — b R 8.00
R3.06.09 26. 700
% &
W<2.5
% * B K 2.5=W<4.0
4.0=W
® B | FOEE | IB
FRYEB E=7)
L FREB’ E=Y
_ W<1.0 )
1
2 R 1.0=W<4.0| T B
| ERED
mamms| MY aeREw % [ B ®
B W #& | W 45enkiE E=3 7.46
SHEERREERE | As t=bem (== RC-40 3.84
FiHsEE | As t=bom R 3 20

LHRREHE
I8 REEE HE - ER ANIE (2) GELFRRL)
BiRaE HBERI
THRER BEENBIETEL (35253
&4 &I (3)
MR B = ‘[E mES 6 1
ELa ]

ERESR

EERMBRERER RIBMM (KK



NO. 5

GH= 32. 464
FH= 32. 380
5 W % &
W<2.5
® T B® O 2.5=W<4.0
4.0=W
% B | ROWRE | B 8.1
8 088 FRYEB EX7) 3.9
R FRIEB’ E27)
2 855 833 3 378 1022 8 g W<1.0 + ® 0.4
2.200 1.0=W<4.0 + ® 1.4
) EHREN
C¢
mamms| PEY e %W % | B §
: R B A |ZoH 45omkiE x| E R k2] 6.52
M= SHERRIREE | As twhom | [ & & ®E A B & RC-40 3.16
| TG | As t=bcm WK L — b N 7.20
Jl &
g -
i

I
1022,

R3.06.09  26.715

DL=20. 000

LHRREHE
I8 REEE HE - ER ANIE (2) GELFRRL)
BiRaE HBERI
THRER BEENBIETEL (35253
&4 1R (4)
MR B = ‘[E mES 17 - 1
ELa ]
BREL ERAFMNKRERER RIEMEH (KR




/MNhO1ET s=1/50

> = = L
JOy I s=1/50 Kima 1) — bk Is=1/25
833
Eiparsy— b
833 W1=0.833_ H 0.30
t ®Iovs ( T r
) I N T [
LED) 7
% R & lo
= avsy—+r 0.09 m? /’qg
z A #| 0.24 Y
B #  #| 0.01 m?
b =
EAHaALHY— b ﬁE
- EBETIs=1/25
8o o 10
=¥ "
—ed
1 46d °
o 3 o
660 2 — 2
]
N L
01 460 lo ij
660
m Y
# " E n Y
BMEMBH| L 02+1.0%) % (H-0.10) m % LIS g
E A S M| HMEICE#R nd avHsyU—+F 013 mf
p] #| 0.50 m?
B #  #| o0.01 m?
FUYUDIFI s=1/50 AT s=1/10
‘\90
3
&
&} d o .
& ‘00000 09000 g

LHRREHE

I8 REEE HE - ER ANIE (2) GELFRRL)
BiRaE HBERI

THRER BEENBIETEL (35253

&4 HwER

MR B = ‘[E mES 8 ~ 1

ELa ]

BREL ERAFMNKRERER RIEMEH (KR




833

H-0.1

100

Xmavoyy—+

wIOVY

1

L)
% R B =
BEBEHE| L (12+1.02) % (H-0.10) m3
E D o M| HEEICRER m®

6. 292

H=

BRAR (7R Yy iRI) =,

MIHER L=77.70m

4. 450, SL-

Sh0utT 78y YT =38 30m 25/MOLET JOy4ET L=38.90m B/NOET
300 7.000 10. 800 X 20.500 o 8. 600 ) 10. 600 ) 19. 700 300
= o
) IS
~ (=
t +
H @ & < o
= = = = = =]
=t Sl Sl =1

5 191

He4, 100, 31
H4 100 SL-5 /91

FTYDIFT

6. 717

H=4. 750, SL:

LHRREHE
I8 REEE HE - ER ANIE (2) GELFRRL)
BiRaE HBERI
TEER BEENBIETEL (35253
HE& REE (1)
MR = mES| 9 ~ 1
ELa ]
BREL ERAFMNKRERER RIEMEH (KR




6. 292

H=

4. 450, SL-

BEE (EKD— k) vow
ki Leiss Hs=1/200
WIS L=77.700
ShOET IOy 3T L=38.30n 28/hALT JOysRT L=38.90n 3BhOLT
300 7,000 ) 10,800 ) 20. 500 o 8. 600 ) 10,600 19.700 300
o o
g g
N S
+ n
ki o - & - "
S S S g S S
= = = = g 2
EL=32.55
EL=32.38
EL=32.30 EL=32. 25 EL=32.33 EL=32. 31
.
I e S R
\
— |
g o
«© o
2 §
! - S
“ ~]
g 7 5 7
| 2| @ o
o A 5
i
EL=28.45 N BELSAY
AN —
N ey
—[E=21.98
N I o
I — EL=2].65 —— _—
_ _
Ny EL=27.43 T
| -
EL=27.21 -
EL=27.10
‘& )

6. 717

4. 750, SL:

H;

IE% REEE BEN - ER ANITE (2) GELFRED)
BiRaHE B

e SBERENBIAETE L (5824)8))

RES REHEE (2)

#ER B = Fﬁﬁﬁ% 0 - 1
Rit4

ERESR

EERMBRERER RIBMM (KK



- S, | e |
e TETER (F) £D1
D HEWA | ————  BIEMOLAEIL=480n (1=4.00) %58 L TREEBET 5.
S TavY. WAM. EK— FEBRUBAT D,

y""‘*"’"*'ﬁ 7 E

AR BB EW=4. 00m T &4 SRR

4.000

D05 - JskiREE

BEOHEZEXME
To5 : $280@ 8
Bdk ik - #9374 (22 x 1524 x 3048) 26,60
HwER I

6 T R 0D — 361 TRERDIRE 28.92 P
HIOYUICHELTOBERIC -
DWTEDIRUHMRERET 5, 2 _— .

BRKAR : 22 X 1524 x 3048
(37%%)

LHRREHE
I8 REEE HE - ER ANIE (2) GELFRRL)

BiRaE HBERI

THRER BEENBIETEL (35253

DL=20. 000 HEHA {RERTEHER
MR B = ‘@ﬁ%% mn - n
ELa ]
BREL ERAFMNKRERER RIEMEH (KR




